[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

g : A
o T [=
s 10° 3
% 5 g
c 10 S
= 3
@
10?
10
Wi o . N ! N N L
Rl [T
‘© +-vo [ T o
g S MR AR T
= AT 2
085 - 20 25 05 =50-15-10 =5 0 5 10 15 20 25
TP dxy PV) (cm) TP dxy(PV) (cm)
—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
I N of sim| —"— DQM_V0001_R000000001__Global__mkFitOLD-checkDet12_ RECO
1] 1J
k] o N H
© F N
g g0 o
2 E P
% ‘g 5 N N
< 910 et
= 3 -
@© .
10 oo
R A I N
K 1 |
o HHHHHHHHH HH‘HMHHHH‘ s
0.950l HHHW‘HHWH 0.950il L ”H‘HMHHH:”
-1-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8 -1-0.8-0.6-0.4-0.2 0 02040608 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
2 : ¢
° - [
L S 10
2 : E
= : g
8 0% FEERES freeeeeens RS 510
= : 3
: o
£ R R EE DL TORE R ERER CREDE 10
oy
1. : 0
"}ﬂ}'" ?
........ | L
* oV :
g :
# | EEERE 1 1 1-teht - -
0 10 20 30 O'—t\’:O -20 -10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2
o o
e =
& 10 B 10t
% B
2 2
= @
g 10° S 10°
[ o)
i3
10? 10?
10 10 :
1 :
- ]
0 0w !
© T
= © i
4 B L0
0.95 095t 05

0.5 1
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


